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General Studies Model Questions – 9 

101. If 2x = 3y = 4z then x : y : z is 

 (A) 3 : 4 : 6     (B) 4 : 6 : 3 

 (C) 6 : 4 : 3     (D) 2 : 4 : 3 

Ans - (C) 6 : 4 : 3 

2x = 3y = 4z vdpy; x : y : z vd;gJ 

 (A) 3 : 4 : 6     (B) 4 : 6 : 3 

 (C) 6 : 4 : 3     (D) 2 : 4 : 3 

Ans - (C) 6 : 4 : 3 

102. LCM and HCF of two polynomials are x
6 

– 1 and x + 1 respectively. If one of the polynomial is 

x
3 
+ 1 then the other polynomial is 

 (A) x
3 
– 1     (B) (x

3 
– 1) (x + 1) 

 (C) x
6 
– 1     (D) (x

6 
– 1) (x + 1) 

 Ans - (B) (x
3 
– 1) (x + 1) 

 ,U gy;YWg;Gf; Nfhitfspd; kP.ngh.k (LCM) kw;Wk; Kp.ngh.t (HCF) Mfpad KiwNa 
x

3
–1 kw;Wk; x+1 MFk;. xU Nfhit x

3
+1 vdpy; kw;nwhU Nfhit vJ? 

 (A) x
3 
– 1      (B) (x

3 
– 1) (x + 1) 

 (C) x
6 
– 1      (D) (x

6 
– 1) (x + 1) 

 Ans - (B) (x
3 
– 1) (x + 1) 

103. The chairman of the 14
th
 Finance commission is 

 (A) C.Rangarajan     (B) Y.B.Chavan 

 (C) Y.V.Reddy      (D) Vijay Khelhar 

 Ans - (C) Y.V.Reddy 

 14-tJ epjp FOtpd; jiyth; ahh;? 

 (A) C. uq;fuh[d;    (B) Y.B. rthd; 

 (C) Y.V. nul;b     (D) tpn[a; nfy;fh; 

 Ans - (C) Y.V. nul;b   

104. The chemical mainly responsible for the car-air bag reaction is 

 (A) NH4 NO3  (Ammonium Nitrate )   (B) NaN3  (Sodium Azide ) 

 (C) KNO3 ( Potassium Nitrate )    (D) SiO2 ( Silica ) 
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 Ans - (B) NaN3  (Sodium Azide ) 

 kfpo;T ce;Jtpy; cs;s fhw;Wg; igapy; elf;Fk; Ntjptpidf;F kpf Kf;fpakhd 
Ntjpapay; nghUs; 

 (A) NH4 NO3  (mk;Nkhdpak; iel;Nul;)   (B) NaN3  (Nrhbak; mra;l;) 

 (C) KNO3 ( nghl;lhrpak;)    (D) SiO2 ( rpypfh) 

 Ans - (B) NaN3  (Nrhbak; mra;l;) 

105. Political mentor of Kamaraj was 

 (A) V.O. Chidambaram Pillai    (B) Gandhiji 

 (C) Bharathiar      (D) Sathayamoorthy 

 Ans - (D) Sathayamoorthy 

fhkuhrhpd; murpay; FU vd;w fUjg;gLgth; 

 (A) t.c.rpjk;guk; gps;is    (B) fhe;jp[p 

 (C) ghujpahh;      (D) rj;jpa%h;j;jp 

Ans – (D) rj;jpa%h;j;jp 

106. Justice Party Published Tamil Newspaper called 

 (A) Justice      (B) Dravidan 

 (C) Andra Prakasika     (D) Maratha 

 Ans - (B) Dravidan 

 ePjpf; fl;rp ntspapl;l jkpo; gj;jphpf;ifapd; ngah; 

 (A) ;[];b];    (B) ;jpuhtpld; 

 (C) ;Me;jpu gpfhrpfh   (D) ;kuhj;jh 

Ans – (B) ;jpuhtpld; 

107. Abolition of bonded Labour Act was passed in which year? 

 (A) 1977 (B) 1976 (C) 1978 (D) 1979 

 Ans - (B) 1976 

 nfhj;jbik njhopyhsh; Kiw xopf;f rl;lk; nfhz;L tug;gl;l Mz;L vJ? 

 (A) 1977 (B) 1976 (C) 1978 (D) 1979 

 Ans - (B) 1976 

108. The National Research Center on Plant Botechnology and Research was established in 

 (A) 1985 (B) 1995 (C) 1987 (D) 1990 
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 Ans - (A) 1985 

 Njrpa jhtu caph;El;gtpay; tsh;r;rp kw;Wk; Muha;r;rp ikak; ve;j Mz;L epWtg;gl;lJ? 

 (A) 1985 (B) 1995 (C) 1987 (D) 1990 

 Ans - (A) 1985 

109. Which are the “Four factors of production”? 

 (A) Rupee – Dollars – Euro – Yen   (B) GNP – NNP – GDP – NDP 

 (C) Land – Labour – Capital – Organization  (D) Rent – Wage – Interest – Profit 

 Ans - (C) Land – Labour – Capital – Organization 

 “ehd;F cw;gj;jpf; fhuzpfs;” vd miof;fg;gLtJ vJ? 

 (A) &gha; - lhyh; - <Nuh – naz;     

(B) GNP – NNP – GDP – NDP 

 (C) epyk; - ciog;G - %yjdk; - njhopy; KidNth;  

(D) thuk; - Cjpak; - tl;b - ,yhgk; 

 Ans - (C) epyk; - ciog;G - %yjdk; - njhopy; KidNth;  

110. Indias Human Development Index (HDI) stands ___________ Rank out of 188 countries in 2016 

 (A) 121  (B) 131  (C) 141  (D) 151 

 Ans - (B) 131 

 2016 Mk; Mz;bw;fhd kdpj ts Nkk;ghl;L FwpaPL ju thpirapy; 188 ehLfspy; ,e;jpah 
-------------- tJ ,lj;jpYs;sJ. 

 (A) 121  (B) 131  (C) 141  (D) 151 

 Ans - (B) 131 

111. The distance to be covered by second phase of Chennai Metro Rail project will be 

 (A) 107.5 km  (B) 100 km  (C) 124 km  (D) 140.5 km 

 Ans - (A) 107.5 km 

 nrd;id nklNuh ,uapy; jpl;lj;jpd; ,uz;lhk; fl;l gzpf;fhf Njh;T nra;ag;gl;l 
ghijapd; J}uk; 

 (A) 107.5 fpkP  (B) 100 fpkP  (C) 124 fpkP  (D) 140.5 fpkP 

 Ans - (A) 107.5 fpkP 

112. Sakravarthi Thirumagan was written by whom? 

 (A) Barathiyar      (B) C. Raja Gopalachari 

 (C) Subramaniya Siva     (D) Ramalinga Adigal 
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 Ans - (B) C. Raja Gopalachari 

 rf;futh;j;jp jpUkfd; vd;w E}iy vOjpath; ahh;? 

 (A) ghujpahh;     (B) C. ,uh[Nfhghyr;rhhpahh; 

 (C) Rg;ukzpa rpth    (D) ,uhkypq;f mbfs; 

Ans – (B) C. ,uh[Nfhghyr;rhhpahh; 

113. The Aligarh movement was started by 

 (A) A.O. Hume      (B) Sir Syed Ahmedkhan 

 (C) Bal Gangadhar Tilak    (D) Jawaharlal Nehru 

 Ans - (B) Sir Syed Ahmedkhan 

 mypfhh; ,af;fj;ijj; njhlq;fpath; 

 (A) A.O. `pA+k;    (B) rh; iraJ mfkJfhd; 

 (C) ghy fq;fhju jpyfh;   (D) [t`h;yhy; NeU. 

 Ans – (B) rh; iraJ mfkJfhd; 

114. In which Ocean Hurricanes are very common? 

 (A) Pacific Ocean    (B) Indian Ocean 

 (C) Atlantic Ocean    (D) Artic Ocean 

 Ans - (C) Atlantic Ocean 

 `h;hpf;Nfd;fs; mjpfk; Njhd;wk; fly; vJ? 

 (A) grpgpf; ngUq;flypy;    (B) ,e;jpa ngUq;flypy; 

 (C) ml;yhz;bf; ngUq;flypy;    (D) Mh;bf; ngUq;flypy; 

 Ans - (C) ml;yhz;bf; ngUq;flypy;  

115. Bamboo and Lianas trees are found in which type of forest? 

 (A) Tropical monsoon forests    (B) Shrub and Thorn forests 

 (C) Tropical evergreen forests    (D) Mangrove forests 

 Ans - (C) Tropical evergreen forests 

 %q;fpy; kw;Wk; yadh]; kuq;fs; vt;tifahd fhLfspy; fhzg;gLfpwJ? 

 (A) ntg;gkz;ly gUtf;fhw;W fhLfs;  (B) FWq;fhL kw;Wk; Kl;Gjh; fhLfs; 

 (C) ntg;gkz;ly gRik khwhf; fhLfs;  (D) khq;FNuht; fhLfs; 

Ans – (B) FWq;fhL kw;Wk; Kl;Gjh; fhLfs; 
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116. A cylindrical shaped well of depth 30m and diameter 28 m is dug. The dug out soil is evenly 

spread to form a Cuboid-platform with base dimension 30m x 28m. Find the height of the plat 

form 

 (A) 44m  (B) 33m  (C) 11m  (D) 22m 

 Ans - (D) 22m 

  28 kP tpl;lKk; kw;Wk; 30 kP MoKk; cs;s xU fpzW cUis tbtpy; ntl;lg;gLfpwJ. 
mt;thW ntl;Lk; NghJ Njhz;b vLf;fg;gl;l kz; rPuhf gug;gg;gl;L 30 kP  x 28 kP 
msTfspy; mbg;gf;fkhff; nfhz;l xU fdnrt;tf Nkilahf mikf;fg;gl;lhy;> 
mk;Nkilapd; cauk; ahJ? 

 (A) 44 kP  (B) 33 kP  (C) 11 kP  (D) 22 kP 

 Ans - (D) 22 kP 

 117. If you write all the numbers from 1 to 100, then how many times do you write 3? 

 (A) 20  (B) 19  (C) 11  (D) 18 

 Ans - (A) 20 

 1 Kjy; 100 tiu vy;yh vz;fisAk; vOJk; NghJ 3 vd;w vz;iz vj;jid Kiw 
vOJtPh;fs;? 

 (A) 20  (B) 19  (C) 11  (D) 18 

 Ans - (A) 20 

118. According to Union Labour Minister Bandaru Dattaterya ‘the humble gift to women’ is 

 (A) Women has Right to Parental Property Act 

 (B) Harassment in work places (Prevention) Act 

 (C) Domestic Violence (Prevention) Act 

 (D) Maternity Benefit (Amendment) Bill 

 Ans - (D) Maternity Benefit (Amendment) Bill 

 kj;jpa njhopyhsh; ke;jphp gz;lhU jj;jhj;Nuah $w;Wg;gb ‘ngz;fSf;fhd vzpa ghpR” 
vd;gJ 

 (A) ngz;fSf;fhd Kd;Ndhh; nrhj;J kPjhd chpikr;rl;lk; 

 (B) Ntiy nra;Ak; ,lq;fspy; Jd;gg;gLj;jg;gLjy; jLg;Gr; rl;lk; 

 (C) td;nfhLik jLg;Gr; rl;lk; 

 (D) NgWfhy gad;ghLfs; jpUj;jr; rl;lk; 

 Ans – (D) NgWfhy gad;ghLfs; jpUj;jr; rl;lk; 

119. India’s longest highway tunnel is 
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 (A) Maliguda Tunnel     (B) Pir Panjal Tunnel 

 (C) Banihal Tunnel     (D) Patnitop Tunnel 

 Ans - (D) Patnitop Tunnel 

 ,e;jpahtpNyNa kpf ePskhd rhiy Fifg; ghij 

 (A) kypFlh Fifg;ghij   (B) gph; gQ;rhy; Fifg;ghij 

  (C) gdpfhy; Fifg;ghij   (D) gl;dplhg; Fifg;ghij 

Ans - (D) gl;dplhg; Fifg;ghij 

120. The bacterium which shows symbiotic relationship with root nodules of legume plants is 

 (A) Rhizobium  (B) Anabaena  (C) Nostoc  (D) Azolla 

 Ans - (A) Rhizobium 

 ny$k; jhtuq;fspd; Nth; Kbr;Rfspy; $l;Laph; tho;f;ifia Nkw;nfhs;Sk; ghf;Bhpah  

 (A) iuNrhapak; (B) mdgPdh  (C) eh];lhf;  (D) mNrhy;yh 

 Ans – (A) iuNrhapak; 

121. Arrange the following in ascending order based on number of carbon atoms present in it 

 I. Erythrose phosphate 

 II. Phospho glyceraldehyde 

 III. Sedoheptulose phosphate 

 IV. Ribulose phosphate 

(A) I, III, II, IV      (B) II, I, IV, III 

(C) I, II, III, IV      (D) II, IV, I, III 

Ans – (B) II, I, IV, III 

fPNo nfhLf;g;gl;Ls;sij mjpy; mlq;fpAs;s fhh;gd; mZf;fspd; vz;zpf;ifapd; 
mbg;gilapy; VW thpirapy; thpirg;gLj;Jf. 

I. vhpj;Nuh]; gh];Ngl;   

II. gh];Ngh fpspruhy;bi`L 

III. nrlh n`g;LNyh]; gh];Ngl; 

IV. hpGNyh]; gh];Ngl; 

(A) I, III, II, IV      (B) II, I, IV, III 

(C) I, II, III, IV      (D) II, IV, I, III 

Ans – (B) II, I, IV, III 
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122. If a, b, c, l, m are in A.P. then the value of 2a – b – 2c – l + 2m is 

 (A) 1  (B) 2  (C) 3  (D) 0 

 Ans - (D) 0 

a, b, c, l, m vd;gd $l;Lj; njhlh; thpirapy ,Ug;gpd; 2a – b – 2c – l + 2m = 

 (A) 1  (B) 2  (C) 3  (D) 0 

 Ans - (D) 0 

123. The price of 2 sarees and 4 shirts is Rs. 1,600 with the same money, one can buy I saree and 6 

shirts. If one wants to buy 12 shirts, how much shall he have to pay? 

 (A) 1200  (B) 2400  (C) 4800  (D) 3600 

 Ans - (B) 2400 

 2 Glit kw;Wk; 4 rl;ilj; Jzpfspd; nkhj;j tpiy &gha; 1>600. ,Nj &ghapy; 1 
Glit kw;Wk; 6 rl;ilj; Jzpia thq;fyhk; vdpy;> 12 rl;ilj;Jzpfs; kl;Lk; thq;f 
vt;tsT gzk; Njitg;gLk;? 

 (A) 1200  (B) 2400  (C) 4800  (D) 3600 

 Ans - (B) 2400 

124. The High court Judges retire at the age of 

 (A) 65  (B) 61  (C) 63  (D) 62 

 Ans - (D) 62 

 cah;ePjp kd;w ePjpgjpfspd; gjtp xa;T ngWk; taJ tuk;G 

 (A) 65  (B) 61  (C) 63  (D) 62 

 Ans - (D) 62 

125. Name the first women President of India 

 (A) Smt. Fathima Beevi     (B) Smt. Pradeep Devi Sing Patil 

 (C) Smt. Annie Besant     (D) Smt. Sarojini Naidu 

 Ans - (B) Smt. Pradeep Devi Sing Patil 

 ,e;jpahtpd; Kjd; ngz; [dhjpgjp ahh;? 

 (A) jpUkjp. Ghj;jpkh gPtp   (B) jpUkjp. Gpujpgh Njtp rpq; ghl;by; 

 (C) jpUkjp. md;dp ngrd;l;   (D) jpUkjp. rNuh[pdp ehAL 

Ans – (B) jpUkjp. Gpujpgh Njtp rpq; ghl;by; 

126. Bordeaux mixture is 

 (A) CuSO4 + Ca(OH) 2     (B) CuSO4 + CaCl2 
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 (C) ZnSO4 + CaCl2     (D) ZnSO4 + CaCl2 

 Ans - (A) CuSO4 + Ca(OH) 2 

Nghh;lhf;]; fyit vd;gJ 

 (A) CuSO4 + Ca(OH) 2     (B) CuSO4 + CaCl2 

 (C) ZnSO4 + CaCl2     (D) ZnSO4 + CaCl2 

 Ans - (A) CuSO4 + Ca(OH) 2 

127. Which statement is correct? 

 I. Wohler synthesized organic compound (urea) from an inorganic compound ammonium 

cyanate. 

 II. Wohler synthesized inorganic compound (urea) from an organic compound ammonium 

cyanate. 

 III. Wohler synthesized organic compound (urea) from an inorganic compound ammonium 

isocyanate. 

 (A) I and III  (B) II and III  (C) I and II  (D) I only 

 Ans - (D) I only 

 rhpahd tpilia Njh;e;njL 

I. Nthyh;> A+hpah vd;Dk; fhpkr; Nrh;kj;ij mk;Nkhdpak; raNdl;L vd;w fdpkr; 
Nrh;kj;jpypUe;J jahhpj;jhh; 

II. Nthyh;> A+hpah vd;Dk; fdpkr; Nrh;kj;ij mk;Nkhdpak; raNdl;L vd;w fhpkr; 
Nrh;kj;jpypUe;J jahhpj;jhh;. 

III. Nthyh;> A+hpah vd;Dk; fhpkr; Nrh;kj;ij mk;Nkhdpak; INrhraNdl;L vd;w fdpkr; 
Nrh;kj;jpypUe;J jahhpj;jhh;. 

(A) I kw;Wk; III  (B) II kw;Wk; III  (C) I kw;Wk; II  (D) I kl;Lk; 

 Ans - (D) I kl;Lk; 

128. From a circular card sheet of radius 14cm, two circles of radius 3.5cm and a rectangle of length 

3cm and breadth I cm are removed. Two identical right triangles whose legs are of length 3cm 

and 4cm are joined. Then the area of the newly formed card is 

 (A) 548cm
2 

  (B) 616cm
2 
  (C) 708cm

2 
  (D) 748cm

2 

 Ans - (A) 548cm
2 

14 nr.kP Muk; cs;s tl;l tbt ml;ilapy; ,Ue;J 3.5 nr.kP Muk; cs;s ,uz;L 
tl;lq;fSk;> 3 nr.kP ePsKk; 1 nr.kP mfyKk; nfhz;l xU nrt;tfKk; ntl;b tpl;L> 3 
nr.kP kw;Wk; 4 nr.kP fhy;fs; nfhz;l nrq;Nfhz Kf;Nfhzq;fs; ,uz;L 
,izf;fg;gl;lhy; Gjpjhf cUthFk; ml;ilapd; gug;gsT vd;d? 

 (A) 548 nr.kP2 
  (B) 616 nr.kP 2 

  (C) 708 nr.kP 2 
  (D) 748 nr.kP 2 
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 Ans - (A) 548 nr.kP 2 

129.  

130. Who won the China open badminton super series tournament on November 20, 2016? 

 (A) P.V. Sindhu  (B) Joshi  (C) Sar Jubala  (D) Carlsen 

 Ans - (A) P.V. Sindhu 

etk;gh; 20> 2016 ,y; rPdhtpy; eilngw;w Kjd;ik thpir G+g;ge;jhl;lg; Nghl;bapy; ntw;wp 
ngw;wth; ahh;? 

 (A) gp.tp. rpe;J  (B) N[h]p  (C) rhh; Rghyh  (D) fhh;y;nrd;  

 Ans - (A) gp.tp. rpe;J  

131. The Tamil Nadu Poompuhar won the National E-Governance for Silver Award in 2016 – 17 

 (A) Artistic Handicrafts sales   (B) Large Number of Handicrafts display 

 (C) Customers service    (D) E-Governance 

 Ans - (D) E-Governance 

jkpo;ehL G+k;Gfhh; epWtdk; 2016-17 Mz;bw;fhd Njrpa kpd;dD MSiff;fhd nts;sp 
gjf;fj;ij ve;j Nritf;fhf ntd;wJ? 

(A) fiyeakpf;f iftpid nghUl;fs; tpw;gid 

(B) mjpf vz;zpf;ifapy; iftpidg; nghUl;fs; fhl;rpf;$lk; mikg;G 

(C) thbf;ifahsh; Nrit 

(D) kpd;dD MSif 

Ans – (D) kpd;dD MSif 

132.   

133. Pressure cooker are based on the principle that 

 I. The boiling point of liquid increases with increases in pressure 

 II. The boiling point of liquid decreases with increases in pressure 

 III. The boiling point is constant 

 Which of the above is correct principle  

 (A) I only       (B) II only 

 (C) III only      (D) I, II and III wrong  

 Ans - (A) I only 

 mOj;j rikaw;fyd; Ntiy nra;Ak; jj;Jtk; 

 I. jputj;jpd; mOj;jk; caUk;nghOJ nfhjp epiyAk; caUk; 
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 II. jputj;jpd; mOj;jk; caUk;nghOJ nfhjp epiy FiwAk; 

 III. nfhjpepiy khwhJ. 

 Nkw;fz;ltw;Ws; vJ rhpahd jj;Jtk; MFk;? 

(A) I kl;Lk; (B) II kl;Lk;  (C) III kl;Lk;  (D) I, II kw;Wk; III jtW 

 Ans - (A) I kl;Lk; 

134. Find the missing term 

 MK : 169/121 :: JH : ? 

 (A) 100 /64  (B) 100/81 (C) 64/120 (D) 81/100  

 Ans - (A) 100 /64 

 tpLgl;l vz;iz fz;Lgpb. 

 (A) 100 /64  (B) 100/81 (C) 64/120 (D) 81/100  

 Ans - (A) 100 /64 

135. Solution of (x – 2/x+ 2)
 2 

 + 3 = 4(x – 2/x + 2) ; x is not equal to -2 is 

 (A) x = 1, x = 3  (B) x = 3 (C) x = -4 (D) x = 1 

 Ans - (C) x = -4 

(x – 2/x+ 2)
 2 

 + 3 = 4(x – 2/x + 2) ; x = -2 vd;w rkd;ghl;bd; jPh;T  

 (A) x = 1, x = 3  (B) x = 3 (C) x = -4 (D) x = 1 

 Ans - (C) x = -4 

136. With which country, dose China describe it’s ties, as ‘iron brothers’? 

 (A) Sri Lanka  (B) Nepal  (C) Pakistan  (D) India 

 Ans - (C) Pakistan 

 ve;j ehl;Lldhd jdJ cwit rPdh ‘,Uk;G rNfhjuh;fs;’ vd th;zpf;fpwJ? 

 (A) ,yq;if   (B) Neghsk;  (C) ghfp];jhd;  (D) ,e;jpah 

Ans – (C) ghfp];jhd;  

137. Consider the statements 

 Assertion (A) : National Girl Child Day is celebrated on 24
th
 of January every year in India. 

 Reason (R)     : It is to raise awareness among people that boy child is not always a blessing. 

 Choose your answer from the option below : 

 (A) (A) is wrong but (R) is correct explanation  

 (B) (A) is correct and (R) is wrong explanation to (A) 
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 (C) (A) and (R) are correct. But (R) is not a correct explanation to (A) 

 (D) Both (A) and (R) are correct and (R) is correct explanation to (A) 

 Ans -  (B) (A) is correct and (R) is wrong explanation to (A) 

 fPo;f;fz;l $w;Wfisf; ftdpf;f 

 $w;W (A)  : ,e;jpahtpy; xt;nthU Mz;Lk; [dthp 24k; ehs; ngz; Foe;ijfs; jpdk;  

nfhz;lhlg;gLfpwJ 

 fhuzk; (R)  : Mz; Foe;ij vg;nghOJk; Xh; Mrphthjk; my;y vd;w tpopg;Gzh;it  

kf;fs; kj;jpapy; Vw;gLj;JtJ ,jd; Nehf;fk; 

 fPNo nfhLf;fg;gl;l FwpaPLfspy; ,Ue;J rhpahd tpilia Njh;e;njL. 

(A) (A) jtW Mdhy; (R) Xh; rhpahd tpsf;fk; 

 (B) (A) rhp kw;Wk; (R) (A) f;fhd rhpahd tpsf;fk; my;y. 

 (C) (A) kw;Wk; (R) ,uz;Lk; rhp. Mdhy; (R) (A) f;fhd rhpahd tpsf;fk; my;y. 

 (D) (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R)  (A) f;fhd rhpahd tpsf;fk; MFk;. 

 Ans - (B) (A) rhp kw;Wk; (R) (A) f;fhd rhpahd tpsf;fk; my;y. 

138. Who was called “Light of the world”? 

 (A) Nurjahan  (B) Mumtaj  (C) Shajahan  (D) Humayum 

 Ans - (A) Nurjahan 

 cyfpd; xsp vd;W miof;fg;gl;lth;? 

 (A) E}h;[`hd;  (B) Kk;jh[;  (C) \h[`hd;  (D) P̀khA+d; 

 Ans – (A) E}h;[`hd; 

139. Who established a ‘Dravida Sangha’ at Madurai in 3
rd

 century A.D.? 

 (A) Raja Nandhi (B) Vajra Nandhi (C) Vajra Velu  (D) Simhu Nandhi 

 Ans - (B) Vajra Nandhi 

 fp.gp 3 Mk; E}w;whz;by; kJiuapy; jpuhtpl rq;fj;ij Njhw;Wtpj;jth; ahh;? 

 (A) uh[ ee;jp     (B) t[;[pu ee;jp   

(C) t[;[pu NtY    (D) rpk;k ee;jp 

Ans – (B) t[;[pu ee;jp 

140. Road safety week celebrated in Every year in the first week of which month? 

 (A) December  (B) January  (C) March  (D) August 

 Ans - (B) January 



Winmeen VAO Mission 100 2018 

 

12 www.winmeen.com | Paid Copy – Don’t Share With Anyone 
 

 Mz;LNjhWk; ve;j khjj;jpd; Kjy; thuk; rhiy ghJfhg;G thukhf filgpbf;fg;gLfpwJ? 

 (A) brk;gh;  (B) [dthp  (C) khh;r;  (D) Mf];l; 

Ans – (B) [dthp  

141. Education is 

 (A) Consumption good     (B) Investment good 

 (C) None       (D) Both 

 Ans - (D) Both 

 fy;tp vd;gJ xU 

 (A) Efh;Tg; gz;lk;    (B) %yjdg; gz;lk; 

 (C) vJTkpy;iy    (D) ,uz;LNk. 

Ans – (D) ,uz;LNk. 

142. Consider the following statements  

 Assertion (A) : Team Indus, space craft will begin its mission to Mars in December 2017 

Reason (R) : A second chosen experiment from the central university at Pondicherry has 

  been chosen for the mission. 

 (A) (A) is true but (R) is correct explanation for (A) 

 (B) (A) is false but (R) is a correct explanation for (A) 

 (C) Both (A) and (R) are false 

 (D) (A) and (R) are true. But (R) is not a correct explanation for (A) 

 Ans -  (C) Both (A) and (R) are false 

 gpd;tUk; $w;Wfis ftdpf;f 

 $w;W (A)  : Bk; ,d;l]; tpz;fyk; tUk; brk;gh; 2017 md;W jdJ nrt;tha; fpufg; 

   gazj;ij Jtq;FfpwJ. 

 fhuzk; (B) : ,e;j Ma;Tg; gazj;jpy; kw;nwhU ghpNrhjidahf ghz;br;Nrhp kj;jpa  

gy;fiyf; fofj;jpd; mwptpay; Ma;Tk; njhpT nra;ag;gl;Ls;sJ. 

(A) (A) rhp Mdhy; (R) (A) f;fhd rhpahd tpsf;fkd;W 

 (B) (A) jtW> Mdhy; (R) (A) f;fhd rhpahd tpsf;fkhFk; 

 (C) (A) kw;Wk; (R) ,uz;LNk jtW 

 (D) (A) kw;Wk; (R) ,uz;Lk; rhp. Mdhy; (R) (A) f;fhd rhpahd tpsf;fk; md;W 

 Ans - (C) (A) kw;Wk; (R) ,uz;LNk jtW 
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143. Who founded the ‘Bahiskrit Hitkaraini Sabha’? 

 (A) Dr. Radhakrishnan    (B) Dr. Rajendra Prasad 

 (C) Dr. Ambedkar    (D) Dr. Annie Besant 

 Ans - (C) Dr. Ambedkar 

 gfp\;fpUj;jpfhuhzp rghit mikj;jth; 

 (A) lhf;lh;. ,uhjhfpU\;zd;   (B) lhf;lh;. ,uhN[e;jpu gpurhj; 

 (C) lhf;lh;. mk;Ngj;fh;    (D) lhf;lh; md;dpngrd;l; 

 Ans – (C) lhf;lh;. mk;Ngj;fh;  

144. When did Sathyamurthi became the mojor of Madras? 

 (A) 1935  (B) 1939  (C) 1949  (D) 1925 

 Ans - (B) 1939 

 nrd;id khfhzj;jpd; Nkauhf rj;jpa%h;j;jp ve;j Mz;L gjtpNaw;whh;? 

 (A) 1935  (B) 1939  (C) 1949  (D) 1925 

 Ans - (B) 1939 

145. Where was First Tamil Printing Press established in Tamil Nadu? 

 (A) Madurai  (B) Chennai  (C) Erode  (D) Tarangambadi 

 Ans - (D) Tarangambadi 

 jkpo;ehl;by; Kjy; jkpo; mr;rfk; vq;F njhlq;fg;gl;lJ? 

 (A) kJiu  (B) nrd;id  (C) <NuhL  (D) juq;fk;ghb 

Ans – (D) juq;fk;ghb 

146. Who is the National Development Council Member? 

 (A) Chief Minister (B) Finance Minister (C) Defence Minister (D) Home Minister 

 Ans - (A) Chief Minister 

 Njrpa tsh;r;rpf; FOtpd; cWg;gpdh; ahh;? 

 (A) khepy Kjy;th;fs;    (B) epjp mikr;rh; 

 (C) ghJfhg;G mikr;rh;   (D) cs;Jiw mikr;rh; 

 Ans – (A) khepy Kjy;th;fs; 

147. 3 years ago the average age of a family of 5 members was 17 years. After a baby born, the 

average age of the family is the same today. The present age of the baby is 

 (A) 1 year  (B) 1 ½ year  (C) 2 year  (D) 3 year 
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 Ans - (C) 2 year 

 %d;W tUlq;fSf;F Kd; 5 egh; nfhz;l FLk;gj;jpd; ruhrhp taJ 17 tUlq;fs;. xU 
Foe;ij gpwe;j gpd; mf;FLk;gj;jpd; ruhrhp taJk; mNj jhd; vdpy; mf;Foe;ijapd; 
jw;Nghija taJ  

 (A) 1 tUlk;  (B) 1 ½ tUlq;fs; (C) 2 tUlq;fs; (D) 3 tUlq;fs; 

 Ans - (C) 2 tUlq;fs; 

148. The simple interest at 5% per annum for 5 years will be Rs.5 on a principle of 

 (A) Rs.5  (B) Rs.500  (C) Rs.200  (D) Rs.20 

 Ans - (D) Rs.20 

 xU Mz;bw;F 5% jdptl;b tPjk; 5 Mz;LfSf;F jdptl;b &.5 vdpy; mrypd; kjpg;G 
ahJ? 

 (A) &.5  (B) &.500  (C) &.200  (D) &.20 

 Ans - (D) &.20 

149. The Newspaper “New India” was started by 

 (A) Gandhiji  (B) Bharathiar  (C) Annie Besant  (D) Gokhale 

 Ans - (C) Annie Besant 

 ‘epA+ ,e;jpah’ vd;w nra;jpj;jhis elj;jpath; 

 (A) fhe;jp[p  (B) ghujpahh;  (C) md;dpngrd;l; (D) NfhfNy 

Ans – (C) md;dpngrd;l; 

150. Who is called Martin Luther of Hinduism? 

 (A) Swami Dayanandha Saraswathi   (B) Swami Vivekananda 

 (C) Ramakrishna Paramahamsa    (D) Rajaram Mohan Roy 

 Ans - (A) Swami Dayanandha Saraswathi 

 ‘,e;J rkaj;jpd; khh;l;bd; Y}jh;’ vd miof;fg;gLgth; 

 (A) Rthkp jahde;j ru];tjp   (B) Rthkp tpNtfhde;jh; 

 (C) ,uhkfpU\;z guk`k;rh;   (D) ,uh[huhk; Nkhfd; uha; 

 Ans – (A) Rthkp jahde;j ru];tjp   

151. The group which is not included in Five Kingdom classification is 

 (A) Gymnosperms  (B) Protozoans  (C) Viruses  (D) Fungi 

 Ans - (C) Viruses 

 Ie;Jyf tifg;ghl;by; Nrh;f;fg;glhj gphpT 
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 (A) [pk;Ndh];ngh;k;fs;    (B) GNuhl;NlhNrhtd;fs; 

 (C) itu];fs;     (D) G+Q;irfs; 

 Ans – (C) itu];fs;  

152. Consider the following statements. 

 I. The tail of the Comet is seen in the North direction of the Sun. 

 II. The tail of the Comet is seen in the West direction of the Sun. 

 III. The tail of the Comet is seen in the opposite direction of the Sun. 

 IV. The tail of the Comet is seen in the South direction of the Sun. 

 Which of these above statements is/are correct? 

 (A) I and II correct    (B) III only correct 

(C) II and IV correct    (D) IV only correct 

Ans - (B) III only correct 

fPo;f;fz;l thf;fpaq;fisf; ftdp. 

I. thy; el;rj;jpuj;jpd; thy; vg;NghJk; #hpaDf;F tl jpirapy; mikAk;. 

II. thy; el;rj;jpuj;jpd; thy; vg;NghJk; #hpaDf;F Nkw;F jpirapy; mikAk;. 

III. thy; el;rj;jpuj;jpd; thy; vg;NghJk; #hpaDf;F vjph; jpirapy; mikAk;. 

IV. thy; el;rj;jpuj;jpd; thy; vg;NghJk; #hpaDf;F njw;F jpirapy; mikAk;. 

Nkw;fz;l $w;Wfspy; vJ/vit rhp? 

(A) I kw;Wk; II correct    (B) III kl;Lk; rhp 

(C) II kw;Wk; IV correct    (D) IV kl;Lk; rhp 

Ans - (B) III kl;Lk; rhp 

153. In a group of buffaloes and ducks, the numbers of legs are 24 more than twice the number of 

heads. What is the number of buffaloes in the group? 

 (A) 6  (B) 8  (C) 10  (D) 12 

 Ans - (D) 12 

 vUJfSk;> thj;JfSk; cs;s xu $l;lj;jpy; fhy;fspd; nkhj;j vz;zpf;ifahdJ. 
jiyfspd; ,Uklq;iftpl 24 mjpfk; vdpy; me;j $l;lj;jpy; cs;s vUJfspd; 
vz;zpf;if vd;d? 

 (A) 6  (B) 8  (C) 10  (D) 12 

 Ans - (D) 12 

154. Find the value of (343 x 343 x 343 – 113 x 113 x 113 / 343 x 343 + 343 x 113 + 113 x 113) 
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 (A) 230  (B) 330  (C) 430  (D) 530 

 Ans - (A) 230  

 (343 x 343 x 343 – 113 x 113 x 113 / 343 x 343 + 343 x 113 + 113 x 113) d; kjpg;igf; fhz;. 

 (A) 230  (B) 330  (C) 430  (D) 530 

 Ans - (A) 230  

155. “Royal Cancer Hospital” is the place where Dr. Muthu Lakshmi studied about cancer. Where is 

it? 

 (A) Chennai  (B) America  (C) London  (D) Italy 

 Ans - (C) London 

 lhf;lh; Kj;Jyl;Rkp gbj;j ,lk; uhay; Gw;WNeha; kUj;Jtkid ,J vq;Fs;sJ? 

 (A) nrd;id  (B) mnkhpf;fh  (C) yz;ld;  (D) ,j;jhyp 

Ans – (C) yz;ld;  

156. In what condition the members of the Lower House of the parliament is elected? 

 (A) By Secret Vote     (B) Universal Adult Suffrage 

 (C) Single Vote      (D) Cordinal Vote 

 Ans - (B) Universal Adult Suffrage 

 ghuhSkd;wj;jpd; fPo; mit cWg;gpdh;fs; ve;j mbg;gilapy; Njh;e;njLf;fg;gLfpwhh;fs;? 

 (A) ufrpa thf;F   (B) taJ te;Njhh; thf;Fhpik 

 (C) xw;iw thf;F   (D) gd;ik thf;F 

Ans – (B) taJ te;Njhh; thf;Fhpik 

157. Trypanosoma Gambiense causes 

 (A) Kala – azar     (B) African sleeping sickness 

(C) Skin leishmaniasis    (D) Amoebic dysentery 

Ans - (B) African sleeping sickness 

 bhpg;gNdhNrhkh Nfk;gpad;]; Vw;gLj;JtJ 

 (A) fhyh mrh;    (B) Mg;hpf;f J}f;f tpahjp 

 (C) Njhy; yP];Nkdpahrp];  (D) mkPgpahrp]; 

Ans - (B) Mg;hpf;f J}f;f tpahjp 

158. According to the latest census estimate the number of mammalian species types found in India 

 (A) 4,100  (B) 20,000  (C) 4,200  (D) 4,000 
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 Ans - (A) 4,100 

 ,e;jpahtpy; jw;fhy fzf;nfLg;gpd;gb fhzg;gLk; ghY}l;bfspd; tiffspd; vz;zpf;if 

 (A) 4,100  (B) 20,000  (C) 4,200  (D) 4,000 

 Ans - (A) 4,100 

159. A rectangular swimming pool 60m long, 40m wide and 1.5m deep is to be tiled. If the side of the 

square tile is 50cm. Find the number of tiles needed. 

 (A) 10200  (B) 10800  (C) 20400  (D) 20800 

 Ans - (B) 10800 

 xU nrt;tf ePr;ry; njhl;bapd; ePsk;> mfyk; kw;Wk; Mok; KiwNa 60 kP> 5 kP> 1.5 kP. 
,j;njhl;bf;F ily;]; gjpf;f> 50 nr.kP gf;fk; nfhz;l rJu ily;]; vj;jid 
Njitg;gLk;? 

(A) 10200  (B) 10800  (C) 20400  (D) 20800 

 Ans - (B) 10800 

160. The daily wage is increased by 15% and a person now gets Rs.23 per day. What was his daily 

wage before the increase? 

 (A) Rs.10  (B) Rs.15  (C) Rs.20  (D) Rs.30 

 Ans - (C) Rs.20 

 xU eghpd; jpdf;$ypia 15% cah;j;jpajhy; mth; &. 23 ngw;whh; vdpy;> 
cah;j;jg;gLtjw;F Kd;G mth; thq;fpa jpdf;$yp vt;tsT? 

 (A) &.10  (B) &.15  (C) &.20  (D) &.30 

 Ans - (C) &.20 

161. Which country has won the 2016 Kabaddi World Cup? 

 (A) Sri Lanka  (B) Iran  (C) India (D) China 

 Ans - (C) India 

 2016 k; Mz;bd; cyf fgbapy; Nfhg;igia ntd;w ehL vJ? 

 (A) =yq;fh  (B) <uhd;  (C) ,e;jpah  (D) rPdh 

Ans - (C) ,e;jpah 

162. Asoka Mitran received Sahitya Acodemy award for his famous Book 

 (A) Friend of My Father     (B) Water 

 (C) Once in My Life     (D) Today 

 Ans - (A) Friend of My Father 

 ------------- ,yf;fpj;jpw;fhf rhfpj;jpa mfhlkp tpUjpid mNrhfkpj;uh ngw;wpUf;fpd;whh;. 
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 (A) mg;ghtpd; rpNdfpjh;   (B) jz;zPh; 

 (C) tho;tpNy xU Kiw   (D) ,d;W 

Ans - (A) mg;ghtpd; rpNdfpjh;  

163. Which of the following statement about ‘Hubble Space Telescope (HST)’ is false? 

 (A) H.S.T is a space telescope designed with two hyperbolic mirror 

 (B) H.S.T is collaborated between European space agency and India’s ISRO 

 (C) H.S.T measures the rate at which universe is expanding 

 (D) H.S.T estimate the age of the universe 

 Ans - (B) H.S.T is collaborated between European space agency and India’s ISRO 

 `g;Gs; thd; njhiyNehf;fp (Hubble Space Telescope) HST gw;wpa fPo;fz;l $w;Wfspy; 
jtwhdJ vJ? 

 (A) H.S.T. ,U ePs;tisa Mbfshy; tbtikf;fg;gl;l xU thd; njhiyNehf;fp 

 (B) H.S.T. INuhg;gpa tpz;ntsp ikak; kw;Wk; ,e;jpahtpd; ISRO $l;L Kaw;rpahy; 
Vtg;gl;ljhFk; 

 (C) H.S.T. mz;lk; tphptilAk; tPjj;ij fzf;fpLfpwJ. 

 (D) H.S.T. mz;lj;jpd; tajpidf; fzpf;fpwJ. 

Ans - (B) H.S.T. INuhg;gpa tpz;ntsp ikak; kw;Wk; ,e;jpahtpd; ISRO $l;L Kaw;rpahy; 
Vtg;gl;ljhFk; 

164. A person A does 500 J work in 10 minutes and another person B does 600 J of work in 20 

minutes. Let the power delivered by A and B be PA and PB respectively. Then 

 (A) PA = PB    (B) PA > PB 

 (C) PA < PB    (D) PA and PB are undefined 

 Ans - (B) PA > PB 

 A vd;w xUth; 10 epkplj;jpy; 500 J Ntiy nra;fpwhh;. B vd;w kw;nwhUth; 20 epkplj;jpy; 
600 J Ntiy nra;fpwhh;. A kw;Wk; B ntspf; nfhzh;e;j jpwd; KiwNa   

 (A) PA = PB    (B) PA > PB 

 (C) PA < PB    (D) PA and PB are undefined 

 Ans - (B) PA > PB 

165. If the price of an item is increased by 30% and then decreased by 30%. The final price compared 

to original price is 

 (A) 9% less  (B) 0%   (C) 91% more  (D) 91% less 

 Ans - (A) 9% less 



Winmeen VAO Mission 100 2018 

 

19 www.winmeen.com | Paid Copy – Don’t Share With Anyone 
 

 xU nghUspd; tpiy 30% $l;lg;gl;L gpd; 30% ,wf;fg;gLfpwJ. ,Wjp tpiyia Mukg 
tpiyAld; xg;gpLf. 

 (A) 9% FiwT  (B) 0%   (C) 91% $Ljy;  (D) 91% FiwT 

 Ans - (A) 9% FiwT 

166. The population of village is 55,000, 40% of them are men, 35% of them are women and the rest 

are children. Find the number of children? 

 (A) 12,000  (B) 12,500  (C) 17,500  (D) 13,500 

 Ans - (B) 12,500 

 xU fpuhkj;jpd; kf;fs; njhif 50>000. mth;fspd; 40% Mz;fs;> 30% ngz;fs;> kPjk; 
cs;Nshh; Foe;ijfs;> vdpy; me;j fpuhkj;jpy Foe;ijfspd; vz;zpf;ifiaf; fhz;f. 

 (A) 12,000  (B) 12,500  (C) 17,500  (D) 13,500 

 Ans - (B) 12,500 

167. Who is the Chair person of ‘Niti Aayog’? 

 (A) President (B) Prime Minister (C) Vice President (D) Supreme Court of Judge 

 Ans - (B) Prime Minister 

 epj;jp MNahf; jiyth; ahh;? 

 (A) [dhjpgjp     (B) gpujk ke;jphp 

 (C) Jiz FbauRj; jiyth;   (D) cr;r ePjpkd;w ePjpgjp 

Ans - (B) gpujk ke;jphp 

168. In many countries ‘Poverty Lines’ are measured through the level of 

 (A) Nutrition  (B) Population        (C) Per capita Income (D) National income 

 Ans - (A) Nutrition 

 mNef ehLfspy; “tWikf;NfhL” ,jid mbg;gilahff; nfhz;L mstplg;gLfpwJ. 

 (A) Cl;lr;rj;J    (B) kf;fs; njhif 

 (C) jdpegh; tUkhdk;   (D) ehl;L tUkhdk; 

 Ans - (A) Cl;lr;rj;J  

169. “Go back to Vedas” was the motto of 

 (A) Swami Dayananda Saraswathi    (B) Ramakrishna 

 (C) Vivekananda      (D) Raja Ram Mohan Roy 

 Ans - (A) Swami Dayananda Saraswathi 

 ‘Ntjq;fis Nehf;fpr; nry;’ vd;w $wpath; 
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 (A) Rthkp jahde;j ru];tjp    (B) uhkfpU\;zh 

 (C) tpNtfhde;jh;     (D) uh[h uhk; Nkhfd;uha; 

 Ans - (A) Rthkp jahde;j ru];tjp  

170. The Indian constitution came into force on 

 (A) January 26
th
 1650    (B) February 26

th
 1950 

 (C) August 26
th
 1950    (D) March 26

th
 1950 

 Ans - (A) January 26
th
 1650 

 ,e;jpa murpayikg;G eilKiwg;gLj;jg;gl;l Mz;L. 

 (A) [dthp 26, 1650    (B) gpg;uth; 26, 1950 

 (C) Mf];l; 26, 1950    (D) khh;r; 26,1950 

 Ans - (A) [dthp 26, 1650 

171. ‘DANDEHAR and RATH’ estimate the value of the diet with minimum level of consumption 

 (A) 2000 calories (B) 2250 calories (C) 2500 calories (D) 2750 calories 

 Ans - (B) 2250 calories 

 ‘jz;Nlfh; kw;Wk; ,uhj;’ mth;fspd; fzf;fPl;bd;gb md;whl Fiwe;jsT Efh;T 

 (A) 2000 fNyhhp (B) 2250 fNyhhp (C) 2500 fNyhhp (D) 2750 fNyhhp 

 Ans - (B) 2250 fNyhhp 

172. The sum of the ages of a son and father is 72 years. After 12 years the age of the father will be 3 

times that of the son. What is the age of the son now ? 

 (A) 12  (B) 22  (C) 14  (D) 16 

 Ans - (A) 12 

 kfd; kw;Wk; jfg;gdpd; jw;Nghija tajpd; $l;Lj;njhif 73> 12 tUlq;fSf;F gpwF 
jfg;gdpd; taJ kfdpd; tajpy; 3 klq;F vd;why;> kfdpd; jw;Nghija taij fhz;f. 

 (A) 12  (B) 22  (C) 14  (D) 16 

 Ans - (A) 12 

173. Bharti Airtel, the largest private wireless communication network operator in India will acquire 

business of another mobile network operator based at Gurgaon, Haryana. What is it ? What is its 

former name ? 

 (A)  BSNL – (Bharath Tele Communications)  (B) Idea – (Motorola Communications) 

 (C) Aircel – (Cell One)     (D) Telenor – (Uninor) 

 Ans - (D) Telenor – (Uninor) 
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 ,e;jpahtpd; kpfg;nghpa fk;gpapy;yh jfty; njhlh;G jdpahh; epWtdkhd ghujp Vh;nly; 
`hpahdh khepyk; Fh;fhdpy; ,aq;Fk; kw;nwhU njhlh;G epWtj;ij ifafg;gLj;jp 
,Uf;fpwJ. me;epWtdk; vJ? Mjd; gioa ngah; ahJ? 

 (A) gp v]; vd; vy; - ghuj; nlyp fk;A+dpNf\d;]; 

 (B) Ibah – Nkhl;NlhNuhyh fk;A+dpNa\d;]; 

 (C) Vh;nry; - nry; xd; 

 (D) nlypehh; - A+dpehh; 

 Ans – (D) nlypehh; - A+dpehh; 

174. Indian Council of Historical Research is going to undertake an archaeological exploration to find 

a monument whether man made or natural. Name the monument 

 (A) The Great Barrier Reef   (B) Adams Bridge 

 (C) The Sundarbans at Bengal   (D) The Dolmen’s caves 

 Ans - (B) Adams Bridge 

 ,e;jpa tuhyw;W Ma;Tf; fofk; xh; epidTr; rpd;dk; ,aw;ifahdjh my;yJ kdpjdhy; 
cUthf;fg;gl;ljh vd;gij fz;lwpa Xh; njhy;ypay; mfo;tha;T nra;ag;NghfpwJ. Me;j 
epidTr; rpd;dk; vJ? 

 (A) khngUk; gtsg;giwj; jpl;l  (B) Mjhk; ghyk; 

 (C) tq;fhsj;jpd; rJg;G epyf;fhLfs;  (D) lhy;kd; Fiffs; 

Ans - (B) Mjhk; ghyk; 

175. After the Second World War who came to power in England 

 (A) Clement Atlee    (B) Sir Stafford Cripps   

(C) Sir Jhon Simon    (D) A.V. Alexander 

Ans - (A) Clement Atlee 

,uz;lhk; cyfg; NghUf;Fg; gpd; ,q;fpyhe;jpy; ahh; jiyikapy; Ml;rp mike;jJ. 

(A) fpskz;l; ml;yp    (B) rh;. ];lhNghh;L fphpg;]; 

(C) rh;.[hd; irkd;    (D) A.V. mnyf;rhz;lh;  

Ans - (A) fpskz;l; ml;yp  

176. Who started the forward Bloc party in 1939 ? 

 (A) Subash Chandra Bose   (B) Pandit Jawaharlal Nehru 

 (C) Sardar Vallabhai Patel   (D) Subramaniya Siva 

 Ans - (A) Subash Chandra Bose 

 1939 y; ‘Kw;Nghf;F fl;rpia’ njhlq;fpath; 
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 (A) Rgh\; re;jpuNgh];    (B) gz;bl; [t`h;yhy; NeU 

 (C) rh;jhh; ty;ygha; gl;Nly;   (D) Rg;ukzpa rpth. 

 Ans - (A) Rgh\; re;jpuNgh];  

177. Match the following : 

 (a) Jawahar Gram Samriddhi Yojana  1. 2000 – 2001 

 (b) National Social Assistance Programme 2. 1993 

 (c) Employment Assurance Scheme  3. 1999 

 (d) Pradhanmantri Gramodaya Yojana  4. 1995 

  (a) (b) (c) (d) 

 (A) 3 1 2 4 

 (B) 4 3 1 2 

 (C) 3 4 2 1 

 (D) 2 3 1 4 

 Ans - (C) 3 4 2 1 

 nghUj;Jf : 

 (a) [tfh; fpuhk Ntiytha;g;Gj; jpl;lk;  1. 2000-2001 

 (b) ehl;L r%f cjtpj; jpl;lk;   2. 1993 

 (c) Ntiytha;g;G cWjpj; jpl;lk;   3. 1999 

 (d) gpujkhpd; Ntiytha;g;Gj; jpl;lk;   4. 1995 

(a) (b) (c) (d) 

 (A) 3 1 2 4 

 (B) 4 3 1 2 

 (C) 3 4 2 1 

 (D) 2 3 1 4 

 Ans - (C) 3 4 2 1 

178. Find among the sets of projects given below, fully supported by Japan International Cooperation 

Agency in Tamil Nadu 

 (i) Metro Rail Phase I, Hogenakkal water supply and Urban Health Care 

 (ii) Metro Rail Phase II, Kaveri Drinking Water supply, and transmission system improvement 
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(iii) Investment promotion programme, Urban Infrastructure and Chennai – Bangalore Industrial 

corridor 

(iv) De-Salination plant, classical Tamil Etymological project and Chennai Peripheral Ring Road 

project 

Find the answers from the options given below. 

(A) (i) (ii) and (iii)    (B) (i) and (iii) 

(C) (i) (iii) and (iv)    (D) (iii) and (iv) 

Ans - (B) (i) and (iii) 

fPNo nfhLf;fg;gl;Ls;s jkpof murpd; tsh;r;rpj; jpl;lq;fspd; njhFg;Gfspy; [g;ghd; 
ehl;L  

gd;dhl;L xj;Jiog;G Kfikapy; KO cjtpiaAk; ngWk; njhFg;Gfis fz;Lgpbf;f 

(i) nkl;Nuh uapy; jpl;lk; - I> n`hNfdf;fy; ePh; mspg;G> efh;g;Gw cly; eyg;ghJfhg;G 

(ii) nkl;Nuh uapy; jpl;lk;-II, fhNthp FbePh; mspg;G> efh;g;Gw cly; eyg;ghJfhg;G 

(iii) KjyPL tsh;r;rpj; jpl;lk;> efh;g;Gw fl;likg;G> nrd;id-ngq;fSh; njhopw;Gw top 

(iv) fly; ePiu Fb ePuhf;Fk; jpl;lk;> nrtptopj; jkpo; nrhy;ypay; Ma;Tj; jpl;lk;> 
nrd;id Rw;W tl;l rhiy. 

fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J rhpahd tpiliaj; Njh;e;njL. 

(A) (i) (ii) kw;Wk; (iii)    (B) (i) kw;Wk; (iii) 

(C) (i) (iii) kw;Wk; (iv)    (D) (iii) kw;Wk; (iv) 

Ans - (B) (i) kw;Wk; (iii) 

179. K. Kamaraj tendered regisnation of chief ministership in 1963 due to 

 (A) K. Kamaraj Plan    (B) C.N. Annadurai Plan 

 (C) M. Karunanidi Plan    (D) M.G. Ramachandran Plan 

 Ans - (A) K. Kamaraj Plan 

 1963-y; Nf.fhkuh[ --------------- f;fpzq;f jdJ Kjyikr;rh; gjtpia ,uh[pdhkh nra;jhh;. 

 (A) Nf. fhkuh[; jpl;lk;    (B) C.N. mz;zhJiu jpl;lk; 

 (C) M. fUzhepjp jpl;lk;    (C) M.G. ,uhkre;jpud; jpl;lk;. 

 Ans - (A) Nf. fhkuh[; jpl;lk;    

180. Number of elected members to Lok Sabha from union territories is 

 (A) 16  (B) 13  (C) 14  (D) 15 

 Ans - (B) 13 
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 ika Ml;rpg; gFjpapypUe;J Njh;e;J vLf;fg;gl;l kf;fsit cWg;gpdh;fs; vz;zpf;if 

 (A) 16  (B) 13  (C) 14  (D) 15 

 Ans - (B) 13 

181. Consider the following statement. 

 Assertion (A) : Air currents in the upper layers of the atmosphere is known as Jet streams 

 Reasoning (R) : It determines the arrival and departure of monsoon winds in India. 

 Select your answer. 

 (A) Both (A) and (R) are true  (B) Both (A) and (R) are false 

 (C) (A) is true but (R) is false  (D) (A) is false but (R) is true 

 Ans - (A) Both (A) and (R) are true 

 fPo;f;fz;l thf;fpaq;fisf; ftdp. 

 $w;W (A) :  tspkz;ly cah; mLf;Ffspy; fhzg;gLk; fhw;Nwhl;lk; n[l; fhw;Nwhl;lk; 

   vdg;gLk; 

 fhuzk; (R) : ,f;fhw;Nwhl;lk; ,e;jpahtpd; gUtf; fhw;wpd; njhlf;fk; kw;Wk; KbtilAk;  

   fhyj;ij eph;zapf;fpwJ. 

 ,tw;Ws; vJ rhp vd jPh;khdpf;fTk;. 

 (A) (A) kw;Wk; (R) ,uz;Lk; rhp  (B) (A) kw;Wk; (R) ,uz;Lk; jtW 

 (C) (A) rhp Mdhy; (R) jtW   (D) (A) jtW Mdhy; (R) rhp 

 Ans - (A) (A) kw;Wk; (R) ,uz;Lk; rhp  

182. The river that originate from the Aravalli ranges is 

 (A) Chambal  (B) Narmatha   (C) Luni  (D) Tapti 

 Ans - (C) Luni 

 Muty;yp kiyj;njhlhpy; cw;gj;jpahFk; ejp 

 (A) rhk;gy;  (B) eh;kjh  (C) Y}dp  (D) jgjp 

Ans - (C) Y}dp 

183. HCF of 3240, 3600 and a third number is 36 and their LCM is 2
4 
x 3

5 
x 5

2 
x 7

2 
. The third number 

is 

 (A) 2
5 
x 5

2 
x 7

2 
  (B) 2

3 
x 3

5 
x 7

2 
  (C) 2

2 
x 5

3 
x 7

2 
  (D) 2

2 
x 3

5 
x 7

2 
  

 Ans - (D) 2
2 
x 3

5 
x 7

2 

3240, 3600 kw;WnkhU %d;whtJ vz; Mfpatw;wpd; HCF MDj 36 kw;Wk; mtw;wpd; LCM 

MdJ 2
4 
x 3

5 
x 5

2 
x 7

2 
. vdpy; me;j %d;whtJ vz; vJ? 
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 (A) 2
5 
x 5

2 
x 7

2 
  (B) 2

3 
x 3

5 
x 7

2 
  (C) 2

2 
x 5

3 
x 7

2 
  (D) 2

2 
x 3

5 
x 7

2 
  

 Ans - (D) 2
2 
x 3

5 
x 7

2 

184. A shopkeeper mixes 20 kgs of rice which cost Rs. 5 per kg with 35 kg of rice which cost Rs. 7 per 

kg. Then he sells the mixture at Rs. 6.50 per kg. Find his profit percentage. 

 (A) 3%  (B) 3 40/67%  (C) 4 34/69%  (D) 3 43/69% 

 Ans - (D) 3 43/69% 

 xU filf;fhuh; jd;dplk; ,Ue;j &.5. mlf;f tpiyAs;s 20 fp mhprpiaAk;> &.7 mlf;f 
tpiyAs;s 35 fpNyh mhprpiaAk; xd;whf fye;J fpNyh &.6.50f;F tpw;why; mtUf;F 
fpilf;Fk; ,yhgj;jpd; rjtPjk; vd;d? 

(A) 3%  (B) 3 40/67%  (C) 4 34/69%  (D) 3 43/69% 

 Ans - (D) 3 43/69% 

185. When the World Literacy Day is Celebrated ? 

 (A) 8
th
 March  (B) 2

nd
 October  (C) 8

th
 September  (D) 5

th
 March 

 Ans - (C) 8
th
 September 

 cyf vOj;jwpT jpdk; nfhz;lhlg;gLk; ehs; vJ? 

 (A) 8tJ khh;r;     (B) 2tJ mf;Nlhgh; 

 (C) 8tJ nrg;lk;gh;    (D) 5tJ khh;r; 

 Ans - (C) 8tJ nrg;lk;gh;  

186. When was India divided into many states on linguistic basis ? 

 (A) 1949  (B) 1950  (C) 1956  (D) 1996 

 Ans - (C) 1956 

 nkhop mbg;gilapy; ,e;jpah vg;nghOJ gy khepyq;fshfg; gphpf;fg;gl;lJ? 

 (A) 1949  (B) 1950  (C) 1956  (D) 1996 

 Ans - (C) 1956 

187. Sperms collected and stored for invitro fertilization in 

 (A) Liquid Oxygen    (B) Liquid Nitrogen   

(C) Liquid Nitrogen    (D) Solid Nitrogen 

Ans - (C) Liquid Nitrogen  

Nrhjidf;Foha; Foe;ijfs; cUthtjw;F tpe;Jf;fs; Nrkpf;fg;gLtJ. 

(A) jput Mf;]p[d;     (B) jput gh];gu]; 

(C) jput iel;u[d;    (D) jpl iel;u[d; 
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Ans - (C) jput iel;u[d;   

188. The plasma protein which helps in blood clotting is 

 (A) Globulin  (B) Albumin  (C) Fibrinogen  (D) Certinine 

 Ans - (C) Fibrinogen 

 ,uj;jk; ciwjYf;F Kf;fpa gq;F tfpf;Fk; gpsh];kh Gujk; 

 (A) FNshGypd;     (B) My;Gkpd; 

 (C) igg;hpNdh[d;    (D) fphpahl;bdpd; 

 Ans – (C) igg;hpNdh[d; 

189. A and B can do a work in 12 days, B and C in 15 days, C and A in 20 days. In how many days 

will they finish it together ? 

 (A) 8  (B) 9  (C) 10  (D) 11 

 Ans - (C) 10 

 xU Ntiyia A kw;Wk; B 12 ehl;fspYk;> B kw;Wk; C 15 ehl;fspYk;> C kw;Wk; A 20 
ehl;fspYk; Kbg;gh;fs;. %tUk; Nrh;e;J mt;Ntiyia Kbf;f vt;tsT ehl;fs; MFk;? 

 (A) 8  (B) 9  (C) 10  (D) 11 

 Ans - (C) 10 

190. Sum of all 2 digit natural numbers which are divisible by 7 is 

 (A) 777   (B) 1728  (C) 1777  (D) 728 

 Ans - (D) 728 

 Vohy; tFgLk; vy;yh ,uz;byf;f ,ay; vz;fspd; $l;Lg; gyd; ahJ? 

 (A) 777   (B) 1728  (C) 1777  (D) 728 

 Ans - (D) 728 

191. How many types of birds in Tamil Nadu has been reported in the recent birds survey ? 

 (A) 323  (B) 333  (C) 343  (D) 353 

 Ans - (C) 343 

 rkPgj;jpa mwpf;ifapd; gb jkpofj;jpy; vj;jid tif gwitapdq;fs; mwpag;gl;Ls;sd? 

 (A) 323  (B) 333  (C) 343  (D) 353 

 Ans - (C) 343 

192. Swachh Bharat Abhiyan is a Campaign by the India towards what ? 

 (A) Cleaning the streets and Road  (B) Electrification of villages 

 (C) Literacy to all    (D) Women employment 



Winmeen VAO Mission 100 2018 

 

27 www.winmeen.com | Paid Copy – Don’t Share With Anyone 
 

 Ans - (A) Cleaning the streets and Road  

 Rtl;r; ghuj; mgpahd; vd;w gpur;rhuk; ,e;jpa murhy; nfhz;L tug;gl;lJ vjw;fhf? 

 (A) njUf;fs; kw;Wk; rhiyfis Rj;jk; nra;jy; 

 (B) fpuhkj;jpy; njUtpsf;F NghLjy; 

 (C) midtUf;Fk; fy;tp mspj;jy; 

 (D) kfspUf;F Ntiy tha;g;G mspj;jy; 

 Ans – (A) njUf;fs; kw;Wk; rhiyfis Rj;jk; nra;jy; 

193. What is the IUPAC name of isobutyl alcohol ? 

 (A) 2 – ethyl – 1 – propanol  (B) 2 – methyl – 1 – propanol 

 (C) 1 – ethyl – 2 - proponal  (D) 1 – methyl – 2 – propanol 

 Ans - (B) 2 – methyl – 1 – propanol 

 INrhgpA+l;ily; My;f`hypd; IUPAC ngah; vd;d? 

 (A) 2 – vj;jpy;– 1 – Gug;gdhy;  (B) 2 – nkj;jpy; – 1 – propanol 

 (C) 1 – vj;jpy;– 2 - Gug;gdhy;  (D) 1 – nkj;jpy; – 2 – propanol 

 Ans - (B) 2 – methyl – 1 – Gug;gdhy; 

194. The term basicity means  

 (A) Number of replaceable hydrogen atoms in one molecule of an acid 

 (B) Total number of hydrogen atoms in one molecule 

 (C) Number of replaceable hydroxide ions in one molecule 

 (D) Total number of hydroxide ions in one molecule 

 Ans - (A) Number of replaceable hydrogen atoms in one molecule of an acid 

 fhuj;Jtk; vd;w gjj;jpd; nghUs; 

 (A) xU %yf;$W mkpyj;jpd; cs;s ,lg;ngah;r;rp nra;af;$ba i`l;u[d; mZf;fspd; 
vz;zpf;if 

 (B) xU %yf;$wpy; cs;s nkhj;j i`l;u[d; mZf;fspd; vz;zpf;if 

 (C) xU %yf;$W ,lg;ngah;r;rp nra;af;$ba i`l;uhf;irL madpfspd; vz;zpf;if 

 (D) xU %yf;$wpy; cs;s nkhj;j i`l;uhf;irL madpfspd; vz;zpf;if 

 Ans - (A) xU %yf;$W mkpyj;jpd; cs;s ,lg;ngah;r;rp nra;af;$ba i`l;u[d; 
mZf;fspd; vz;zpf;if 

195.  
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196. Sita and Geetha can do a job in 15 days and 10 days respectivel. They began to work together but 

Sita leaves after some days and Geetha finishes remaining job in 5 days. After how many days 

did Sita leave ? 

 (A) 3  (B) 6  (C) 8  (D) 10 

 Ans - (A) 3 

 xU Ntiyia rPjh 15 ehl;fspYk; fPjh 10 ehl;fspYk; Kbg;ghh;fs;. ,UtUk; Nrh;e;J 
Ntiyia njhlq;fpaJk; rpy ehl;fSf;Fg;gpwF rPjh nrd;W tpl;lhs;> kPjk; cs;s 
Ntiyia fPjh 5 ehl;fspy; Kbj;jhs vd;why;> rPjh vt;tsT ehl;fs; fopj;Jr; nrd;whs;? 

 (A) 3  (B) 6  (C) 8  (D) 10 

 Ans - (A) 3 

197. Recognised official language of India are 

 (A) 25  (B) 23  (C) 22  (D) 27 

 Ans - (C) 22 

 ,e;jpahtpy; mq;fPfhpf;fg;gl;l mYty nkhopfs; 

 (A) 25  (B) 23  (C) 22  (D) 27 

 Ans - (C) 22 

198. The Right to information Act was passed by the parliament on 

 (A) 12
th
 October 2005    (B) 21

st
 October 2005 

 (C) 12
th
 October 2006    (D) 21

st
 October 2006 

 Ans – (A) 12
th
 October 2005    

 Jfty; mwpAk; chpikr; rl;lk; ghuhSkd;wj;jpy; epiwNtw;wg;gl;l Mz;L 

 (A) 12tJ mf;Nlhgh; 2005    (B) 21tJ mf;Nlhgh; 2005 

 (C) 12tJ mf;Nlhgh; 2006    (D) 21tJ mf;Nlhgh;  2006 

 Ans -  (A) 12tJ mf;Nlhgh; 2005  

199. Which country found the world’s first floating solar power station ? 

 (A) America  (B) Japan  (C) South Korea  (D) India 

 Ans - (C) South Korea 

 cyfpd; Kjy; kpjf;Fk; #hpa kpd; epiyak;  mikag; ngw;w ehL. 

 (A) mnkhpf;fh  ( B) [g;ghd;  (C) njd; nfhhpah  (D) ,e;jpah 

Ans - (C) njd; nfhhpah 

200. Which one of the Bank is not listed in Bank fraud list is 2016 ? 



Winmeen VAO Mission 100 2018 

 

29 www.winmeen.com | Paid Copy – Don’t Share With Anyone 
 

 (A) SBI  (B) HDFC  (C) ICICI  (D) Canara Bank 

 Ans - (D) Canara Bank 

 2016 d; tq;fpfspd; Nkhrb gl;baypy; ,lk; ngwhj tq;fp vJ? 

 (A) SBI (v];gp.I)    (B) HDFC (n`r;b.vg;.rp) 

 (C) ICICI (I.rp.I.rp.I)    (D) fduh tq;fp 

 Ans - (D) fduh tq;fp 

 


